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P—Q={max(4 —3,0)-a max(l —4,0) - b, max(3 -0, 0) - ¢, max(0 — 2, 0) - d}
={1-4,0:-b3-¢,0-d} ={1-a,3-c}, and

P+0={4+3)-a(1+4):-b3+0):-¢,(0+2) d}

={7-a,5-b,3-¢,2-d}.

Exercises

1.

Let A be the set of students who live within one mile of
school and let B be the set of students who walk to classes.
Describe the students in each of these sets.

a) AnB b) AUB

¢c) A-B d) B-A

. Suppose that A is the set of sophomores at your school

and B is the set of students in discrete mathematics at

your school. Express each of these sets in terms of A

and B.

a) the set of sophomores taking discrete mathematics in
your school

b) the set of sophomores at your school who are not tak-
ing discrete mathematics

¢) the set of students at your school who either are
sophomores or are taking discrete mathematics

d) the set of students at your school who either are not
sophomores or are not taking discrete mathematics

. LetA={1,234 5} and B = {0,3,6).Find

a) AUB. b) AnB.
¢) A—B. d) B—A.
. LetA={a,b,c,de}andB={a,b,cde,f g h}. Find
a) AUB. b) AnB.
c) A-B. d) B—A.

In Exercises 5-10 assume that A is a subset of some underly-
ing universal set U.

S.

Prove the complementation law in Table 1 by showing
that A = A.

6. Prove the identity laws in Table 1 by showing that
a) Auf=A. b) AnU=A.
7. Prove the domination laws in Table 1 by showing that
a) AuU=U. b) An@=0.
8. Prove the idempotent laws in Table 1 by showing that
a) AUA =A. b) AnA=A.
9. Prove the complement laws in Table 1 by showing that
a) AUA=U. b) ANA=0.
10. Show that
a) A-0=A. b) d-A=40.
11. Let A and B be sets. Prove the commutative laws from

12.

Table 1 by showing that

a) AUB=BUA.

b) AnB=BnA.

Prove the first absorption law from Table 1 by showing
that if A and B are sets, then A U (A N B) = A.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

Prove the second absorption law from Table 1 by show-
ing that if A and B are sets, then AN (A U B) = A.

Find the sets A and Bif A—B={1,5,7,8}, B—A=
{2,10},and AN B = {3,6,9}.

Prove the second De Morgan law in Table 1 by showing
that if A and B are sets, then A U B = ANB

a) by showing each side is a subset of the other side.

b) using a membership table.

Let A and B be sets. Show that

a) (AnB) CA. b) AC(AUB).

¢c) A-BCA. d) An(B-A)=4.

e) AU(B—A)=AUB.

Show that if A and B are sets in a universe U then A C B
ifandonly if AUB = U.

Given sets A and B in a universe U, draw the Venn dia-
grams of each of these sets.
a)A->B={xeU|xeA - xeB}

b) Ao B={xeU|x€A < x €B}

Show that if A, B, and C are sets, then ANBNC =AU
BuC

a) by showing each side is a subset of the other side.

b) using a membership table.

Let A, B, and C be sets. Show that

a) AUB)C(AUBUQOQO).

b) AnBNC)C(ANB).

¢c) A-B)—-CCA-C.

d) A-C)n(C-B)=0.

e) B-—AU(C—-A)=MBUO)-A.

Show that if A and B are sets, then

a) A-B=ANB.

b) ANB) UMANB) =A.

Show that if A and B are sets with A C B, then

a) AUB =B.

b) AnB=A.

Prove the first associative law from Table 1 by show-
ing that if A, B, and C are sets, then AUBUC) =
(AuB)UC.

Prove the second associative law from Table 1 by show-
ing that if A, B, and C are sets, then AN(BNC) =
AnB)nC.

Prove the first distributive law from Table 1 by showing
thatif A, B, and C are sets,thenAU (BN C) =(AUB)N
AuO).




26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

Let A, B, and C be sets. Show that (A —-B)—C =
A-C)—-B-0).

Let A={0,2,46,8 10}, B={0,1,2,3,4,5,6}, and
C=1{456,7289 10}. Find

a) AnBnC. b) AUBUC.

¢c) AuB)NC. d AnB)uC.

Draw the Venn diagrams for each of these combinations
of the sets A, B, and C.

a) An(BUC) by AnBnC

00 A-BUA-C)UB-0)

Draw the Venn diagrams for each of these combinations
of the sets A, B, and C.
a) AnB-0)

©) ANB)UMANC)
Draw the Venn diagrams for each of these combinations
of the sets A, B, C, and D.
a) AnB)u(CnD)
¢c)A-(BnNnCND)

b) AnB)UMANC)

b) AUBUCUD

What can you say about the sets A and B if we know that
a) AUB=A? b) AnB=A?
¢c) A—-B=A? d) AnB=BnA?

e) A—-B=B-A?

Can you conclude that A = B if A, B, and C are sets such
that

a) AUC=BuUC(C? b) AnC=BnC?

¢) AUC=BUCandANC=BnC?

Let A and B be subsets of a universal set U. Show that
A C Bifand only if B C A.

Let A, B, and C be sets. Use the the identity A — B =
AN E, which holds for any sets A and B, and the identities
from Table 1 to show that A —B)Nn(B-C)n(A-C)
=0.

Let A, B, and C be sets. Use the identities in Table 1 to
show that AUB)N(BUC)N(AUC)=AnBnC.
Prove or disprove that for all sets A, B, and C, we have

a) AX(BUC)=(AXBUMAXO).

b) AX(BNC)=AXB)NAxCO).

Prove or disprove that for all sets A, B, and C, we have

a) AX(B—-C)=(AXB) —(AxC().

b) AX(BUC)=AX(BUO).

The symmetric difference of A and B, denoted by A @ B, is
the set containing those elements in either A or B, but not in
both A and B.

38.
39.

40.

41.

42,
43.

Find the symmetric difference of {1, 3,5} and {1, 2, 3}.
Find the symmetric difference of the set of computer sci-
ence majors at a school and the set of mathematics majors
at this school.

Draw a Venn diagram for the symmetric difference of the
sets A and B.

Show that A@ B=(AUB) —(ANB).

Show that A@ B=(A—B)U (B —A).

Show that if A is a subset of a universal set U, then
a) AGA=40. b) A® g =A.

) AQU=A. d AGA=U.

44.

45.
*46.

*47.

48.

49.

50.

S1.

*52.

53.

54.

55.

56.

57.

58.
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Show that if A and B are sets, then

a) A@GB=B®A. b) ADB)® B =A.
What can you say about the sets A and Bif A @ B = A?
Determine whether the symmetric difference is associa-
tive; that is, if A, B, and C are sets, does it follow that
ADBOCO)=ADB)BC?

Suppose that A, B, and C are sets such that A@ C =
B & C. Must it be the case that A = B?

If A, B, C, and D are sets, does it follow that (A & B) &
C®»D)=ABOC)DB®D)?

If A, B, C, and D are sets, does it follow that (A & B) @
(C®D)=ADD)DBGC)?

Show that if A and B are finite sets, then A U B is a finite
set.

Show that if A is an infinite set, then whenever B is a set,
A U B is also an infinite set.

Show that if A, B, and C are sets, then

|[AUBUC| = |A|+|B|+|C| - |ANnB]
—lAnC|—|BnC|+|AnBnNC|.

(This is a special case of the inclusion—exclusion princi-
ple, which will be studied in Chapter 8.)
LetA;, ={1,23,...,i}fori=1,23,.... Find

a) OAI-. b) ﬁA,..
i=1 i=1

LetA;={...,-2,-1,0,1,...,i}. Find

a) CJAi. b) ﬁAi.
i=1 i=1

Let A; be the set of all nonempty bit strings (that is, bit
strings of length at least one) of length not exceeding i.

Find
n n
a) A, b) (A,
i=1 i=1
Find (J72, A; and (2, A, if for every positive integer i,
a) A, ={ii+1i+2 ..}
b) A, ={0,i}.
¢) A; =(0,1), that is, the set of real numbers x with
O<x<i
d) A; = (i, ), that is, the set of real numbers x with
x>0

Find |J, A; and (2, A; if for every positive integer i,
a) A = {—i—i+1,...,~1,0,1....i—1,i}.

b) A; = {-i i}.

c) A —i, i], that is, the set of real numbers x with

—-i<x<i

d) A, [i,;oj, that is, the set of real numbers x with
x> 1.
Suppose that the universal set is U ={1,2 34,

5,6,7,8,9,10}. Express each of these sets with bit
strings where the ith bit in the string is 1 if i is in the
set and O otherwise.

a) {3,4,5}

b) {1,3,6,10}

c) {2,3,4,7,8,9}



